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STATISTICS
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Paper : STA-HG-4016/STA-RC-4016
(Applied Statistics)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
1. Choose the correct option : (any seven)

1x7=7
% eIl AR et ¢ (et srehy)

(@) Fisher’s ideal formula for index numbers
does not satisfy

PHIF AT IR 7 o s Tes
TP
(i) time reversal test
TR B o]
(i) circular test
TSR ~AST
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(b)

()

(iii) factor reversal test
ol Tearmet A
(iv) None of the above
B[ OIS 7T
(Choose the correct option)
(e T )

The general decline in the sales of cotton
clothes is attached to which component
of time series ?

FAR FLoR [P AR Fanfier wisre
PATIR P! Tl T Wi 2 wics?
(i) Trend

&St
(i) Seasonal variation

UPAET ey
(iii) Cyclical variation

PP SR
(iv) All of the above

G AR D

(Choose the correct option)

(s7 BEICH! fo72n)

Period?c changes in a time series related
to business activities are called .
(Fill in the blank)
arﬁ@msm!w’ﬁaﬂwﬁs@w%w
ARG PRI | (97} 12 97 73p)
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(d)

(e)

(9)

(h)

)

0)
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In statistical quality control, when is C
chart used ?

SRR veisie Tawe Faars @t C oIt
JRIJWA?

Why is Fisher’s index number called the
ideal index number ?

R PSR e TP I (PRI ?

It has been found empirically that the
Pareto curve fits much betterfor ______
income groups. (Fill in the blank)

ATFIETFOIE G20 (IR TR A Tl
(51159 A (ARG’ IeF AR AT |
(N7 512 97 F)

What do you understand by BLUE ?
BLUE 3=t [ @i e
In SQC, when is X used ?

5. B, cofem X of args =t =me
Define general fertility rate.

A Tdroi TR R =

What is infant mortality rate ?

TSI O 2R Ifeiee B g0
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2.  Answer any four of the following questions :

2x4=8

Rzt 51351 2wt Tl 3 2

(a)

(b)

(c}

@

(e)

(9)

What are the columns of abridged life
table ? Enumerate them.

e GRA SIfFPIN TSR [ 2 w34 |

Distinguish between gross and net
reproduction rates.

TS A o AT I S AL ot
State Engel’s law.
QAT IECO! B 1 |

Distinguish between chance causes and
assignable causes in SQC.

5.8 .o A FRY W FRGACA
PRI ST “ALITPTIZ ot |

What is the ideal about Fisher’s ideal
index number ?

=R o pices ol 62

Write a short note on standardized death
rate.

AN PR 2R eoige «f it ot |

Distinguish between product control and
process control in SQC.,

qsﬁﬁ@ﬁ%swwﬁhﬁmmwsm$aﬁwmﬁhmnawnms
AN o |
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(h) Which component of time series is
mainly applicable in the following cases ?

FIACHTR FICO! Soimia e Fxfae oo
AT ?

(i) Sales of Jewellery and ornaments
goes up in marriage season

R ToT© H-oRRPR Refl I

(ii) Fallin death rate over the years due
to improvement in health care

JY RN TAfe AR 3] IR «R 79N
A

3. Answer any three questions from the

following : 5x3=15
o et fofAsT eis Teg 31 ¢

(a) With the following data, calculate price
index number by using —

(i) Laspeyre’s, (ii) Paasche’s, (iii) Fisher’s
index number :

oo A SYF 7 FGCRIR, S S Y|

ez I9RT IR Pt et 37 ¢
2010 2015
Commodities Price Quantity Price Quantity
A 20 8 40 6
B 50 10 60 5
C 40 15 50 10
D 20 20 20 50
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(b)

(c)

(d)

(e)

(9

What do you mean by cost of living index
number ? Explain different uses of index
numbers.

AT R IHIIS WY o [ @ 2 3P
Rifen eer |

What are different methods for studying
trend ? Describe the least square method
for fitted trend to time series data.
et [T IR RoR & B seade
AR} el T TFUon I SwfSCor I T4 |
Write a note on Gini’s coefficient.

fafag iz esige Gft SILoIR forat |

Distinguish clearly between control
charts for variability and control charts
for attributes. ,

ARTEA oo A et 516 A= wefiaz AR
Tzt 5163 e sty fRef w1

What is standardised dealth rate ? What
are the advantages and disadvantages
of this death rate ?

AT TN I 2 9] ToR IR IRy wi=.
SRR |

Discuss different columns of life table
together with their interpretation.

G SR R S IR (108 Giems)
HICEADAl 40|
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(h) Describe demand and supply curve
mentioning the uses and limitations of
these curves.

BifRAT i1 (TS TG 39 R R I IR
% ATl S 74 |

4. Answer any three questioné from the

following : 10x3=30
OoTs et folebr e el i ¢

(a) Discuss different fertility rates,
comparing their advantages and
disadvantages. ‘

Rfon TR IR 1o O R4 IS SHRUTRR
SIS 39|

(b) Discuss various problems involved in the
construction of index numbers.

I Ao T (A1 Rfen gz

GTEH 11 |

(c) Explain the procedures of construction
of various control charts for variables
and explain how they are used.

7oie AR Riow FaEe 516 oge Taie el
3 T IR IR ORI IR TN IMI

Rl

(d) Explain and describe the terms
‘producer’s risk’, ‘consumer’s risk’,
‘AOQL’ and LTPD’. 214x4=10
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TAIR TP, BTSSR T, ‘AOQL’
% ‘LTPD’ it 6 3@ [t o< fRsgs =41
(e) Write a note on some of the important

sources of demographic data in our
country.

G (e SRR S gt wagsi e
@S B! (B &S T |

() Explain the concepts of autoregressive
series, autocorrelation and correlegram.
Define the uses of time series data.

FAFT 234&1, EF ANRE o -
(FIEAT GRNRF I 3971 w“ﬁa
IRYTTIR I T |

(g) Describe the moving average method.
What are the advantages and
disadvantages of this method ?
FITRTI BoTE G 1w B! 31 74 | G o1 o7

HARY-SP R A 35 | |
(h) State Pareto’s law of income dlstnbutlon
and explain the significance of its

parameters. Mention the limitation of the
law.

SN RIS (ATest RiR! 3 721 o 2
MAFISTIRT Sles ian 911 @B Rk
AIRTOPTZ S 791 |

—————e
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